C9H

3B (A) 48 () 5H (K) 6H (K) 78 (&)

BB Bmb —A%Y | |#e BEmd —A&Y | |#z BEmd —A&Y | |#zs Emf —A&Y | |#zs BEm% — A%y
EERSE EERDE ERDE ERRE ERNE
T mEx@E 80| (X [mEx@EH 0| [T |mExEE-H) 80| |3 60 [ay~/ty 60| [~ [HE%EHR 70
E |pEr myy 20| |5 [kuzE Bk o] [ [l 2542 20] |7 | ez ag 10
ﬁ (LR 3 Dok L) 10 ‘;J) 84 |z LEYsHA 250g 4 2 4= 2 :\\ L3R 206 ? Lhhsybzs 10
= AS 10| = EOEH 15 |, K CRTEZY 10
A [TERT 5( 1= |43 206| |y |EBE 1 BAAVE 8 EHL 30| |5 (&) Ly (1 X 2em) 10
A |PRE 5 1% G4 LA (1 x 40m) 10] |4 [messur v gaL 2| [ [BERESH 2
= [@mFLinkn 2542 07{ |A [EBEHYr M EHL 12 |4 |BE 1[5 |[R—ar 2542 5( |1 FhF 20
= P ' 1 [~  [mesor 23 muL 8| L [(LR)S3F S 20 B BAVAIFAR 20| |E  |AB 10
Ao EE 4| |2 | BE 1 A 40| 1B |[EhE 40| |7 [ZULE Avk 5
EOEH 4l (A |[EBEE M A20) 12| [©  [FEh=x 30| |A |y 15| |7 [3a— 1
T pmcam og| [V [Ep% 3] 2 lenmosaan 5] (P Az 20| [ [958 i
o |as 0.6 (A SOV AT A 115 [AB 12| |5 [i2Al< 1| X |[&E 1
) & |AB 10f 3 |Fh&E 24NN VAN ) 05| |y |EL&D 0.03
C|4EL 206 [z |EurrasRE K 4 | | HSFHE 1 |z |¥3%H 05| [ |AL—% 0.8
= BEOEH 28| |7 [CEH 0.5 INE— 0.5 FELavyA 3-BiRE 0.6

¥ | FeRy 25| & |BECEES 25/ |1 (LR ABR—F 3| [ (LR R=RKE 25| |4
7 [Ee3Y 20| (% |&if 03| |E  [ROEH 17 [V |[pRETFevT 3| |2 45 206

¥ @B h—ra—y 3| |2 [ 35| |~ |&& os] || [FEsE>E 1 |
S |@emocs s| & boles 008] |7 [maE(em) os| | [ m@syoR i
o =D = 15 [Ee3Y 25| |2 |prvavs nomms 04] |5 |2RE—Y—Z 0.7 ﬁ xp35Y 25
| (S HABEL YL L BiE 10 * (FD) I TLKIR 3 ThA XA 1 5 FEoavy A 3-EE 0.6 5 TRy 20
. = [(AZ |z [& 50 Bif 04| |[&# [E)HR—)a—2 5
B (LRES% Ak 20 (ED2HEf 05| [= #[ZL&S 0.05 (BB L 10

£ (LR SAF T Hok 20 | = (RAFLYLLY I PiEE 10| |~ 43| 206| |~ ol 20| |3
(L) #HvA 20| |® ~ /I ¥ [#R—ay 2542 5
- 30| |2 [Earasi—z I L E——— 50| [P [=w3Y 30| [V [cernt 40
;J) 12t-ta it 4 2 FrRY 25 ; Eh¥ 20
ps A ) 3| |0 |@m=ax—x mike 8 17 |AZ 10
z 55 1 5 [y 05
L] BEF ey B 40 o—T 0.1
5 12| |5 = (LR ASR—F 3
H 7—EVREIHA) 35( |1Z CENIA YL FN I 15| Y |FFarus nemmE 0.3
N z CENIA YL FN g 20| |V Big 0.7
A S=kvk 30| |V A LS 0.03
v A 7 ROE 02
l N o, bz 120

2z th ~
~ ) N (BSVIRFYY 15

N H =]

2] - )

(1)) &

H N2




C9H

108 (A) 118 () 128 (K) 138 (K) 148 (£)
4 Bmb —A%Y | |#e Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb —A&Y | |#zs Bmdb — A%y
EERSE EERDE ERDE ERRE ERNE
S BER(EE-E) 80| [N [@avsste mAY gt so| (K [$EEHR (B4 70| K R/ S RE 60| [ |BEX(EHE-B) 80
& B @ sayl [ 1o6 40| |2 [kE B8 10| [¥ (&
AP o 206 :J’ B3y BAY B oS0l 2 [£M 2542 2| |7V (432 o 206] |V |43 o 206
4 X T 5] |7 4
) (FILE) AL —H F Y (2om) 50| |,¢ 43, @) 206| | AS 5 4+ BHRA Aty 30 2 (MSAEDHENE 50
b 2| |+ £ |PECAITRL 5| |z, [FHE 2
7 |BE 01| [~ [RSFF20N—2) 35| (A [CR)KREKE 15 ThARA 5[ & /A% 20
D |TASRA 4| 1% [P TIE 15[ |Y MLERT 5 1K [hBL s —sES51H 20| A [£®L 20
ES 3 (A [er—ar 2542 5 [~ [¥54m 08| (A |frt-tail 5| | |Zw5Y 15
T |fGtfhih 6| [V [whezyszs 10 O 3| [€ [msECchaE) 3| P [Az 7
RS s 4 |7 b xdem) 10 fFL EE 2| |¥ [EoEm 28| | [wyBcE 1
{ [pBEom o| |4 [eEzU o] [ [pmcam i) [z= 3 || PT— 10
=z |EOEH 25| g [BAESH 2| |y |BIE 07 [ =A< 08| &
FhE 40| |y & BB 1.5 By 15
B |BPL 40| |8 [(LR)ERKE 25| [+ [&EL 0] 206| |v 2iRE 0.05| |/h  |(BD)ZESHA 3
O hE 20| | [L®HL 10| (L B |5 4| [y [ERE 20
= [AB 7| [® (Ryx—= 10| | X  [TAsD | [T |z AREE: T 5
Y I=F- T 3| |2 (A 7| R [migg 5 WYBTE 1] (& [t 5
“ A VA 03] |2 [@aFLim 8 'g is; EOEn 06
C £l RS54 5 Z Y3545 2| | AS 10 x FeRY 35 0 BiE 0.7
z [(AWAXEKE 15| |, [FbTFvvT 5 | [(RSPVAIFA 8 |y [UB)k—ia—y 5| | |ELAIVET ik 4
& |HEBF 5 FAESH 5 g 3 05| |~ |BTIE 05) | [ 130
X |GBDULE 25| |4 |DRE—Y—R 1 [+ (g 25| [v Z
2 |AB 10| |2 |EEECEEH) 1| [F [BOEh 15 ) A—av 54X 51 1% [ UVLEDY 10
D |DECAITRL 1ol [V (&8 04| L [E&H#YA 12] |3 [(LB)3FSH 30| |@
B IEPVAITFA 5117 [EL&> 0.05| [ [EL+ 20| [T [Ez 20| |
E_ Ve 1 _g_ FELaLVA - BliRE 0.3 3 EI)‘] AS 10 i;_
= EOEH 35 5 —BRESIABL 0.01] (7 2 20| |y FUFHA 8 A
» |PEESRE 25| g [BF=X 3 |5 |ERE 20| |5 |[HS¥H 05| |y
& | E#HYVA 0.8 L |FRE 3 | [WRHBER=T 3| |=
v % 15] |5 [V 35 |+ [@mFiiver 2542 07| [+ |[&BiE 06| [5
) g |Ew3Y 15 |~ |@&FLbhs Huk 05| [~ [EOEH 05| [
B |k ssymE 10| |2 |[EWh=—ra—> 5/ |’ [ [T |zxeavvs amims 03| (A
& ¥ |wmE—=o 5| |9 [&i& 7] |1 [Cxm 02| |/t
;I\ Il) (S 15Ty Y B RE 10 gi EOEH 0.5 ;) L&D 0.03 o
th _ __ _|EELEIYES fEtRE 507 |& 120} |1
D N[ ARESEY— 40 K 140| | =
H th 0]
~ ) {E)I—F )b 70 Y
& —~
- I
th
)
#H




C9H

18H () 198 (K) 208 (K) 218 (%)
g Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb —A&Y | |#zs Bmdb — A%y
EERDE ERDE ERRE ERNE
T | BEXER) 90| ¥ |BEXEE-B) go| |3 [ay~sy 60| [ A% (ER) 70
Lo KLz 25| R 4B 2542 20] |7 N xkpE Bk 10
; = [Leping 20 :\\ 43 206| | [ERrabnsd 2.2
= a4 206| |~ |EhF 35| |- Et
< S ~ v = -
= Y MNEEBPAVE 20 BRAVE B EHL 12| |4, [H&EL 206
Y [BRAvk B RGL 12| [ [T 15] (4 |mespor 4 gL 10] [~
~  |BEAvr b mHL 8l |lL  |H3FH 2| |1z, [E=£K 25| | |mesvk tb BHEL 10
B V35T 5= 20| |1 |Rwx—= 10 Fh&E 35| (A |meshor M EAGL 15
N [DECAIzel 25 |7 [(LR)F=RKE 5 [&  [Coning 20| |Y [ Eusnytems) 60
Y [®uoEs 15| |1 [&ay— 5| I Az 10| [=  [#ECAlze< 13
5 [A2 10| [* izalz< 0.5 {)\ /X4 e [22 10
A R SOVAITA 8 % 4= 0.2 s, Y545 1 3 (B SPVAITA 8
~ |@ors 3| g [¥5%m 2| |7 [mEBEHY) 35 54 i 15
Y555 1 INEW (R HE) 5 |2 |YS&H 2| @ [BOEH 3.5
4+ |BEECEES 5| |7 | M35 5| |1 INg— 1 [ [Eo#E(hIeE) 2
2 BOEm 45| |L hL—#H 1.1 SRR A4 EL 25| | & b9} 1
. |EAYA 05| [~ (L HBR—F 3| |1F [WhASR—TF 3| % [l 10
N T 2| [T |r=rEFevS 2| R |Fxvovys semms 05| |A
f‘b’ Y [mrE—v—=x 17l |7 |[e& 04| (2 [mmiF 5
5 |mB 3 Z EAPDY—R S 005| b |GRIBE 20
z |ERE 20 EOEH 1 Bl 60 EhE 25
L [Ledthg 20 |/n  |[FAYH 450g iz AZ 10
v ILBHL 10| [& |FERESHE 1|15 [a—ar 2542 7| |7+ |[hRFE 5
C AS 5| [F |BiE 1| [&# | TRy 25| [+ h&HZ 7
& (¥ 5 I |cLeS 004 |2 [L&L 15 HHZ 6
D |hsz 1| | [Fxravyx g-miks 05| ¥ [ 20| |A ELETFL 5
; HHE 6 g]‘ = 85 jlj (&) h—)La—> 5 i- X 120
:  [ELEFL 5 | SRCELE: gk
R P8 10| |5 |42 206| |v, |FEravvs sz 02f || [BARFY— 50
C - ~  |EOEH#H 0.2
v (W) BEEDY 2 FoRY 30| l/n B 0.2
) =p35Y 20| | [SL&S 0.03
L YASERE LBE3YIY 15[ |
;—’) (S TLUFRLYLL Y BB 10 7 (B)EbHDIT—H 11
7 &) MEFL 2
it




C9H

258 (k) 26H (7K) 278 (K) 28H (%)
g Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb —A&Y | |#zs Bmdb — A%y
EERDE ERDE ERRE ERNE
® Ak ER 65| & [®wA%X(EE-B) 80| [ |3y ) 60| [ |BEX(EHE-B) 80
= 5% 10 (8 L &
% 2 3| |V [&m 206 3 43 206| [ [F3 206
B LEHT 8| |4 ; 4
x  |EE 3 |z 2B 0| |y [BBESEETIA 30 g, |EA_R54R 20
g, |BiE 0.9 BRR SUF 20| [+ [(BBESETFA 50 Eizlf 50
| EREFE 35| |a  |Aifztail 6| B [2=CAlzel 20
B [4E 206| |97 |HT 20[ |/ 5 |AS 10
[ A |fattaih 2 || [Feny 35| I [BEBLAFA 5
|menor m mnL 15| 1Y Az 7 jIJ AS 10| [P [EouLsE 3
5 |EEAsk e gL 10 "2 (LR 2 DTk h—L) 10 WP TiE 0.5 ; Y54 1
[P b 15 |[FxZxyd 10} [y |[E) BRI 8| | [ROZEH 45
o EEECAIZe 0| | |emFiws 254z 1] |z T |BEE(ZEE 4
& |[S1FS MHhb 30 = 0.7 (#WA—aY R54R 5/ [ |B#YA 0.5
z  [HELAhACA 15 g |I2A1ZK 03| |= R HEVAITAR 15| [ [K 20
T (A 15| |#E |hhFE 3| [+ | ERE 40| |&
(B EPVAIFA 8l I |SEm 1] |A [(LR) r=hkE 15| |2 [FvRY 30
CEl 15| |7 [r=borFevT 6| [b Az 10 INAEE 20
EOEm a5 |7 [EE 35 '? <HE= (L TIL) 5 ga‘ AZ 7
FOHE (P INHE) 35 # EOEH 35 = +0ay— 2 0) WYBRTE 1
TARA 0.7 M (LR ABR—F 3 VAN D)) 0.5 H OTHOBFLY LY 5 ShiEE 10
f=Lit 6| 4 |FZEHE 2 HSH 05| |g
$ |Fxravya glomiEs 05 (LR) AR —=TF 3| | [(B) LEEYDHA 4
=28 30| [ [WECEERE) 0.5 FAESHE 1 B 1
Hhisf AT 0.25 ais 0.7 RUBE 1
Fh¥ 20| X |BE 0.15 ZL&S 0.03 FogE (=88 1.2
LoHL 7 ;\ ThRA 2 FELaLYA I BEE 0.5 WYBAITE 0.5
hi¥F 5 | Fl 40 o—yx 0.1
hHE 7| o ol 120
H#% 6] [ [BL 35
ZLETL 5| [« [ Jovay— B 20 (B) RSARF—R (D)
B 120 A 10
wyaCE 1
(S BABELYS LY LSS 10
(B B AT1—R 125




